
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

	

ijh{k.k iqfLrdk
lkekU; vè;;u

(fnlacj eSx”khu tk¡p ijh{kk)
fnukad& 11-12-2022

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u fy[ksaA
	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA izR;sd iz'uka'k fganh vkSj vaxzs”kh eas Nik gSA izR;sd iz'uka'k 

esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj 
dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs 
gSaA ;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh 
gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10.	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'ui=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ naM ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ naM ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1-	fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 lalnh; lfefr dh vo/kj.kk fczfV'k laln ls 
çsfjr gSA 

	 2-	 Hkkjr 'kklu vf/fu;e 1935 ds rgr igyh ckj 
yksd ys•k lfefr dh LFkkiuk dh xbZ FkhA 

	 3-	 lalnh; lfefr;k¡ lafo/ku ds vuqPNsn 105 vkSj 
vuqPNsn 118 ds rgr vius vf/dkj çkIr djrh gSA 

	 4-	 foÙkh; lfefr;ksa esa çkDdyu lfefr] yksd ys•k 
lfefr] lkoZtfud miØe lfefr 'kkfey gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1] 3 vkSj 4 	 (b)	 dsoy 1] 2 vkSj 3 
	 (c)	 dsoy 2 vkSj 4  	 (d)	 1] 2] 3 vkSj 4

	 2-	Hkkjrh; lafo/ku ds fdl vuqPNsn esa dgk x;k gS fd 
tc rd laln dk fdlh dkuwu }kjk dksbZ fo'ks"k çko/ku 
ugha fd;k tkrk] rc rd lokZsPp U;k;ky; vkSj mPp 
U;k;ky; ds le{k lHkh dk;Zokfg;k¡ vaxzsth Hkk"kk esa 
lapkfyr dh tk,axhA

	 (a)	 vuqPNsn 343	 (b)	 vuqPNsn 345
	 (c)	 vuqPNsn 347	 (d)	 vuqPNsn 348

	 3-	vksVhVh (vksoj n VkWi) IysViQkWeZ ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1-	 bls miHkksDrkvksa }kjk baVjusV ds ekè;e ls mi;ksx 
fd;k tkrk gSA

	 2-	 Ñf=ke cqf¼eÙkk (AI) dk ç;ksx djrs gq;s miHkksDrk 
dks daVsaV ds laca/ esa lq>ko çnku djukA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2 

	 4-	fuEufyf•r dFkuksa ij fopkj dhft;s% 

	 1-	 lgdkjh lfefr cukus dk vf/dkj Hkkjr ds ukxfjdksa 
dks çnÙk ,d ekSfyd vf/dkj gSA

	 2-	 97osa la'kks/u vf/fu;e us Hkkjr esa dk;Zjr lgdkjh 
lfefr;ksa ds laca/ esa lafo/ku esa Hkkx IXA tksM+kA

	 3-	 lgdkjh lfefr;ksa dks c<+kok nsuk jkT; ds uhfr 
funs'kd rÙoksa esa 'kkfey gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2] vkSj 3 

	 5-	yksd vnkyr ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 bls dkuwuh lsok çkf/dj.k vf/fu;e 1987 ds 
ekè;e ls oS/kfud ntkZ fn;k x;kA 

	 2-	 ;g xka/hoknh fl¼kar ij vk/kfjr gSA

	  1.	 Consider the following statements.
	 1.	 The concept of parliamentary committee is 

inspired by the British Parliament.
	 2.	 The Public Accounts Committee was 

established for the first time under the 
Government of India Act 1935.

	 3.	 Parliamentary committees derive their powers 
under Article 105 and Article 118 of the 
Constitution.

	 4.	 Financial Committees include Estimates 
Committee, Public Accounts Committee, 
Public Undertakings Committee.

		   Which of the above statements are correct?
 	  (a)	 1, 3 and 4 Only	 (b)	  1, 2 and 3 Only 
	 (c)	 2 and 4 Only	 (d)	  1, 2, 3 and 4
	 2.	 Which article of the Indian Constitution states that 

unless any special provision is made by the 
Parliament, all proceedings before the Supreme 
Court and the High Court shall be conducted in the 
English language.

	 (a)	 Article 343	 (b)	 Article 345
	 (c)	  Article 347	 (d)	 Article 348
	 3.	 Consider the following statements regarding the 

OTT (over the top) platform:
	 1.	 It is used by consumers through the Internet.
	 2.	 Using artificial intelligence (AI) to provide 

suggestions regarding content to the user.
		  Which of the statements given above is/are correct?
 	 (a)	  1 Only	 (b)	  2 Only 
 	 (c)	  1 and 2 both 	 (d)	  Neither 1 nor 2
	  4.	 Consider the following statements:
	  1.	 The right to form cooperative societies is a 

fundamental right granted to the citizens of 
India.

	  2.	 The 97th Amendment Act added Part IXA 
to the Constitution in relation to cooperative 
societies operating in India.

	  3.	 Promoting cooperative societies is included 
in the state's policy directives.

		   Which of the above statements are correct?
 	 (a)	 1 and 2 Only 	 (b)	 1 and 3 Only
 	 (c)	 2 and 3 Only 	 (d)	 1, 2, and 3 
	 5.	 Consider the following statements in reference to 

the LokAdalat:
	 1.	 It was given legal status through the Legal 

Service Authority Act of 1987.
	 2.	 It is based on Gandhian theory.
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	 3-	 jk"Vªh; fof/d lsok çkf/dj.k vU; dkuwuh laLFkkuksa 

ds lkFk yksd vnkyrksa dk vk;kstu djrk gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	 6-	cSafdax ç.kkyh rjyrk ds lanHkZ esa fuEufyf•r dFkuksa 

ij fopkj dhft;s%

	 1-	 cSafdax ç.kkyh esa vf/d rjyrk vklkuh ls miyC/ 

udnh dks lanfHkZr djrh gS ftlls cSad vYidkfyd 

O;kikj vkSj foÙkh; ”k:jrksa dks iwjk djrs gSaA

	 2-	 vkjchvkbZ cSafdax ç.kkyh rjyrk dks rjyrk lek;kstu 

lqfo/k (LAF) ds ekè;e ls lapkfyr djrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2 

	 7-	dkWy euh ekdZsV ds lanHkZ esa fuEufyf•r dFkuksa ij 

fopkj dhft;s%

	 1-	 bl eqæk ck”kkj esa nh?kkZof/ ds fy;s fuf/ m/kj 

yh tkrh gS vkSj m/kj nh tkrh gSA 

	 2-	 blds ekè;e ls ifjlaifÙk ns;rk vlarqyu dks Hkjus] 

,l,yvkj] lhvkjvkj ,oa /u dh ekax dks iwjk 

djus ds fy;s ysrs gSA 

	 3-	 vkjchvkbZ] cSad] çkFkfed Mhyj vkfn dkWy euh 

ekdZsV ds Hkkxhnkj gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 1 vkSj 3 
	 (c)	 dsoy 2 	 (d)	 2 vkSj 3 

	 8-	gky gh esa vkjchvkbZ }kjk ykxw dkMZ&vkWu&iQkby (CoF) 
Vksdukbts'ku ekunaM ds lanHkZ esa fuEufyf•r dFkuksa ij 

fopkj dhft;s%

	 1-	 ;g okLrfod ØsfMV dkMZ vkSj MsfcV dkMZ ds 

fooj.k dks Vksdu uked oSdfYid dksM esa cnyus 

dks lanfHkZr djrk gSA 

	 2-	 Vksdu dkMZ] Vksdu vuqjks/drkZ vkSj fMokbl ds 

la;kstu ds fy;s vf}rh; gksxkA

	 3-	 CoF ysu&nsu og gS ftlesa dkMZ/kjd us dkMZ/kjd 

ds ekLVjdkMZ ;k ohtk Hkqxrku fooj.k dks lax`ghr 

djus gsrq ,d O;kikjh dks vf/Ñr fd;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 2 vkSj 3
	 (c)	 dsoy 1	 (d)	 1] 2 vkSj 3 

	 3.	 National Legal Services Authority organizes 
Lok  Adalats along with other legal institutions.

		   Which of the statement(s) given above is/are 
correct?

 	 (a)	  2 Only 	 (b)	  1 and 3 Only
 	 (c)	  2 and 3 Only 	 (d)	  1, 2 and 3
	 6.	 Consider the following statements regarding 

banking system liquidity:
	  1.	 More liquidity in the banking system refers 

to the readily available cash through which 
banks meet short-term business and financial 
needs.

	  2.	 RBI manages the liquidity of the banking 
system through the Liquidity Adjustment 
Facility (LAF).

		  Which of the statements given above is/are correct?
 	 (a)	 1 Only	 (b)	 2 Only 
 	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
	  7.	 Consider the following statements regarding the 

call money market:
	  1.	 Currency is borrowed for the long term in this 

market.
	  2.	 Through this, the assets are taken to fill the 

liability balance, SLR, CRR and meet the 
demand of money.

	  3.	  RBI, bank, primary dealer etc. are participants 
of call money market.

		  Which of the statement(s) given above is/are 
correct?

 	 (a)	 1 Only	 (b)	 1 and 3 
	 (c)		 2 Only 	 (d)	 2 and 3 
	  8.	 Consider the following statements in the context 

of the Card-on-File (CoF) tokenization criteria 
recently implemented by the RBI:

	 1.	 It refers to the conversion of real credit card 
and debit card details into an alternative code 
called a token.

	 2.	 Token card will be unique for token requester 
and device combination.

	 3.	 CoF is a transaction in which the cardholder 
has authorized a merchant to collect the 
cardholder's MasterCard or Visa payment 
statement.

		  Which of the statement(s) given above is/are 
correct?

 	 (a)	 2 Only 	 (b)	 2 and 3
	 (c)	 1 Only 	 (d)	 1, 2 and 3 
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	 9-	fuEufyf•r dFkuksa ij fopkj dhft;s%
	 1-	 miHkksDrk ewY; lwpdkad&Ñf"k Je (CPI-AL) 

jk"Vªh; lkaf[;dh laxBu }kjk tkjh fd;k tkrk gSA 
	 2-	 miHkksDrk ewY; lwpdkad&xzkeh.k (CPI-R) yscj 

C;wjks }kjk tkjh fd;k tkrk gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2 

	10-	Hkkjr ds fons'kh eqæk HkaMkj esa fuEufyf•r esa ls fdls 
'kkfey fd;k tkrk gSa\

	 1-	 fons'kh eqæk vfLr;k¡
	 2-	 Lo.kZ HkaMkj
	 3-	 vkbZ,e,iQ (IMF) ds ikl fo'ks"k vkgj.k vf/dkj 

(SDR)
	 4-	 vkbZ,e,iQ (IMF) ds ikl fj”koZ Vªsap

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s% 
	 (a)	 dsoy 1] 3 vkSj 4 	 (b)	 dsoy 1] 2 vkSj 3 
	 (c)	 dsoy 2 vkSj 4  	 (d)	 1] 2] 3 vkSj 4

	11-	ekuo fodkl lwpdkad ds varxZr 'kkfey ladsrdksa esa 
dkSu&ls ,lMhth (SDG) ds y{;ksa ds lkFk lkE; 
j•rk gS\

		  (ekuo fodkl lwpdkad  (,lMhth ds y{;)
		  ds ladsrd)
	 1-	 tUe ds lkFk thou çR;k'kk	 –	 ,lMhth 3
	 2-	 Ldwyh f'k{kk ds visf{kr o"kZ 	 –	 ,lMhth 4
	 3-	 ldy jk"Vªh; vk; çfr O;fDr	–	 ,lMhth 8

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\
	 (a)	 dksbZ Hkh ;qXe ugha 	 (b)	 dsoy ,d ;qXe 
	 (c)	 dsoy nks ;qXe 	 (d)	 lHkh rhuksa ;qXe 

	12-	fuEufyf•r dFkuksa ij fopkj dhft;s%
	 1-	 ekuo fufeZr iQkbcj (MMF) ikWyhej ds y?kq 

v.kqvksa ds la;kstu ls fufeZr gksrs gSaA 
	 2-	 ekuo fufeZr iQkbcj dks vkWxZsfud ,oa xSj&vkxZsfud 

esa oxhZÑr fd;k tkrk gSA 
	 3-	 Hkkjr fo'o dk lcls cM+k ekuo fufeZr iQkbcj 

fofuekZrk gSA 

	 	mi;ZqDr esa ls dkSu&ls dFku lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3 

	13-	ih,e&fMokbu (PM-DevINE) ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1-	 bls dsaæh; ctV 2021&22 esa ?kks"k.kk dh xbZ FkhA 
	 2-	 ;g 100» dsaæh; foÙkiks"k.k ds lkFk dsaæh; 

;kstuk gSA

	  9.	 Consider the following statements:
	  1.	 Consumer Price Index-Agriculture Labour 

(CPI-AL) is issued by the National Statistics 
Organization.

	  2.	 Consumer Price Index-Rural (CPI-R) is issued 
by the ssLabor Bureau.

		   Which of the statement(s) given above is/are 
correct?

 	 (a)	 1 Only	 (b)	 2 Only 
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
	 10.	 Which of the following are included in India's 

foreign exchange reserves?
	 1.	 Foreign exchange
	 2.	 Golden store
	 3.	 IMF has Special Drawing Rights (SDR)
	 4.	 IMF (IMF) has a reserve trench
		   Choose the correct answer using the code below:
 	 (a)	 1, 3 and 4 Only	 (b)	 1, 2 and 3 Only 
 	 (c)	 2 and 4 Only 	 (d)	 1, 2, 3 and 4
 11. Which of the indicators included in the Human 

Development Index are compatible with the goals 
of the SDG?  

      (Human Development         (SDG's target)  
      Index indicator)
	  1.	 Life expectancy at birth	 –	SDG 3
	  2.	 Expected Year of School Education – SDG 4
	 3.	 Global national income per capita 	 –	SDG 8
		   How many pairs are correctly matched among the 

above pairs?
 	 (a)	 None	 (b)	  Only one pair 
 	 (c)	 Only two pairs 	 (d)	  All three pairs
	 12.	 Consider the following statements:
	  1.	 Man-made fibers (MMF) are produced by 

combining small molecules of polymer.
	  2.	 Man-made fiber is classified into organic and 

non-organic.
	  3.	 India is the world's largest man-made fiber 

producer.
		   Which of the following statements are correct?
 	 (a)	 1 and 2 Only 	 (b)	 1 and 3 Only
	 (c)	 2 and 3 Only 	 (d)	 1, 2 and 3 
	 13.	 Consider the following statements regarding PM-

DevINE:
	  1.	 It was announced in the Union Budget 

2021–22.
	  2.	 This is a central scheme with 100% central 

financing.
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	 3-	 ;g ;kstuk ekStwnk dsaæ ,oa jkT; dh ;kstukvksa dk 
fodYi gksxhA 

	 4-	 bl ;kstuk ds rgr o"kZ 2025&26 rd ₹10000 
djksM+ dk ifjO;; gksxkA 

	 5-	 bl mís';ksa esa cqfu;knh <k¡ps dks fuf/ nsuk] fofHkUu 
{ks=kksa ds fodkl varjky dks de djuk] lkekftd 
fodkl ifj;kstukvksa dk leFkZu djuk 'kkfey gSA 

	 	mi;ZqDr esa ls dkSu&ls dFku lgh gSa\

	 (a)	 1] 2] 3 vkSj 4	 (b)	 dsoy 2 vkSj 5
	 (c)	 dsoy 1] 4 vkSj 5	 (d)	 1] 2] 3] 4 vkSj 5

	14-	fons'kh eqæk HkaMkj ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 ;s fons'kh eqæk esa ,d dsaæh; cSad }kjk vkjf{kr 
j•h xbZ laifÙk gS] ftlesa ljdkjh çfrHkwfr;k¡ Hkh 
'kkfey gks ldrh gSaA

	 2-	 fo'ks"k vkgj.k vf/dkj (SDR) bu HkaMkjksa ds 
?kVdksa esa ls ,d gSaA

	 3-	 ;g ekSfæd vkSj fofue; nj çca/u dh uhfr;ksa dk 
leFkZu djrk gS vkSj muesa fo'okl cuk, j•rk gSA

	 4-	 ladV ds le; ;k tc ½.k ysus dh igq¡p esa 
dVkSrh dh tkrh gS rks ;g fons'kh eqæk rjyrk dks 
cuk;s j•rs gq, ckgjh dkjdksa dks lhfer djrk gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1] 2 vkSj 4 	 (b)	 dsoy 1] 2 vkSj 3 
	 (c)	 dsoy 3 vkSj 4  	 (d)	 1] 2] 3 vkSj 4

	15-	LVkVZvi ds fy;s ØsfMV xkjaVh ;kstuk ds rgr 
fuEufyf•r esa fdl laLFkkvksa }kjk ik=k LVkVZvi dks 
fn;s x, ½.k dks xkjaVh çnku dh xbZ gS\

	 1-	 vuqlwfpr okf.kT; cSad
	 2-	 xSj&cSafdax foÙkh; daifu;k¡ 
	 3-	 lgdkjh cSad
	 4-	 lsch }kjk iathÑr oSdfYid fuos'k dks"k (AIFs)

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s% 

	 (a)	 dsoy 1] 2 vkSj 4 	 (b)	 dsoy 1] 2 vkSj 3 
	 (c)	 dsoy 3 vkSj 4   	 (d)	 1] 2] 3 vkSj 4

	16-	lks'ky LVkWd ,Dlpsat (SSE) ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1-	 bldk igyk fopkj foÙk o"kZ 2021&22 ds ctV 
Hkk"k.k esa fn;k x;k FkkA 

	 2-	 bls us'kuy LVkWd ,Dlpsat }kjk LFkkfir fd;k 
tk,xkA 

	 3-	 blds rgr fuos'kd ,sls fdlh Hkh lkekftd m|e 
dk 'ks;j •jhn ldrs gSa] ftls vkf/dkfjd ,Dlpsat 
}kjk lR;kfir fd;k x;k gSA

	  3.	 This scheme will be an alternative to the 
existing central and state schemes.

	 4.	 Under this plan, ₹10000 crore will be invested 
by the year 2025–26.

	 5.	 These  ob j ec t ives  i nc lude  fund ing 
infrastructure, reducing development gaps 
in various areas and supporting social 
development projects.

		  Which of the following statements are correct?
 	 (a)	 1, 2, 3 and 4 	 (b)	 2 and 5 Only
 	 (c)	 1, 4 and 5 Only 	 (d)	 1, 2, 3, 4 and 5
	 14.	 Consider the following statements in the context 

of foreign exchange reserves:
	  1.	 This is an asset reserved by a central bank 

in foreign currency, which may include 
government securities.

	  2.	 Special Drawing Right (SDR) is one of the 
components of these stores.

	  3.	 It supports monetary and exchange rate 
management policies and maintains trust in 
them.

	  4.	 At the time of crisis or when access to 
borrowing is cut, it limits external factors 
while maintaining foreign currency liquidity.

		   Which of the above statements are correct?
 	 (a)	  1, 2 and 4 Only 	 (b)	 1, 2 and 3 Only
	 (c)	 3 and 4 Only	 (d)	 1, 2, 3 and 4
	 15.	 Under the loan guarantee scheme for startups, 

which of the following institutions guarantee the 
loan given by eligible startups?

	  1.	 Scheduled commercial bank
	  2.	 Non-banking financial companies
	  3.	 Cooperative bank
	  4.	 Alternative investment funds (AIFs) registered 

by the SEBI
		   Choose the correct answer using the code below:
 	 (a)	 1, 2 and 4 Only	 (b)	 1, 2 and 3 Only 
 	 (c)	 3 and 4 Only	 (d)	 1, 2, 3 and 4
	 16.	 Consider the following statements in the context 

of the Social Stock Exchange (SSE):
	  1.	 The first idea of this was given in the budget 

speech of the financial year 2021&22.
	  2.	  It will be established by the National Stock 

Exchange.
	  3.	  Under this, investors can buy shares of any 

social enterprise, which has been verified by 
the official exchange.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 	2 vkSj 3 	 (b)	 dsoy 1 
	 (c)	 dsoy 3 	 (d)	 1 vkSj 2 

	17-	çkFkfed Ñf"k ½.k lfefr;ksa (iSDl) ds lanHkZ esa 
fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 ;g vYidkfyd lgdkjh ½.k dh f=k&Lrjh; 
O;oLFkk esa lcls fupys Lrj ij viuh Hkwfedk 
fuHkkrh gSA 

	 2-	 ;g cSafdax fofu;eu vf/fu;e] 1949 ds nk;js 
esa vkrh gSA 

	 3-	 ;g Hkkjrh; fjtoZ cSad }kjk fofu;fer ugha gSA 
	 4-	 iSDl dks lgdkjh lfefr;ksa ds :i esa iathÑr 

fd;k x;k gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 1] 3 vkSj 4
	 (c)	 dsoy 3 vkSj 4	 (d)	 dsoy 4

	 18-	Hkwfe eqæhdj.k ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 blds rgr mu lkoZtfud miØeksa dh igpku dh 
tk jgh gS] ftuds ikl i;kZIr tehu rks gS ysfdu 
dksbZ ykHkdkjh O;olk; ugha cpk gSA 

	 2-	 blds fy;s jk"Vªh; Hkwfe eqæhdj.k fuxe (NLMC) 
uke ls ,d Lis'ky iiZt Oghdy dh LFkkiuk dh 
xbZ gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2 

	19-	G-20 (G&20 lewg) ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1-	 G-20 dh vè;{krk çR;sd o"kZ lnL;ksa ds chp 
pØh; :i ls çnku dh tkrh gSA

	 2-	 orZeku esa Hkkjr th 20 Vªksbdk dk fgLlk gSA
	 3-	 blds ,tsaMk vkSj dk;Z dk leUo; ^'ksjik* ;kuh 

th&20 ns'kksa ds çfrfuf/;ksa }kjk fd;k tkrk gSA
	 4-	 bldk viuk LFkk;h eq[;ky; ;k lfpoky; gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1] 2 vkSj 4 	 (b)	 dsoy 1] 2 vkSj 3 
	 (c)	 dsoy 3 vkSj 4   	 (d)	 1] 2] 3 vkSj 4

	20-	iQkbusaf'k;y ,D'ku VkLd iQkslZ (FATF)" ds ckjs esa 
fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 bldk xBu isfjl esa fodflr ns'kksa dh th&7 
cSBd esa fd;k x;k FkkA

	 2-	 bldk lfpoky; fLoV~tjySaM esa vkfFkZd lg;ksx 
vkSj fodkl laxBu (vksbZlhMh) eq[;ky; esa 
fLFkr gSA

		  Which of the statement(s) given above is/are 
correct?

 	 (a)	 2 and 3	 (b)	 1 Only
	 (c)	 3 Only 	 (d)	 1 and 2 
	 17.	 Consider the following statements in the context 

of primary agricultural loan societies (PAX):
	  1.	 This short-term cooperative plays its role at 

the lowest level in the three-tier credit system.
	  2.	 This comes under the Banking Regulation 

Act, 1949.
	  3.	 It is not regulated by the Reserve Bank of 

India.
	  4.	 PAX has been registered as cooperative 

societies.
		  Which of the statements given above is/are correct?
 	 (a)	 1 and 2 Only 	 (b)	 1, 3 and 4
	 (c)	 3 and 4 Only 	 (d)	 4 Only
	 18.	 Consider the following statements in the context 

of land monetization:
	  1.	 Under this, those public enterprises are 

identified that have sufficient land but no 
profitable business is left.

	  2.	 A special purpose vehicle named National 
Land Monetization Corporation (NLMC) has 
been established for this purpose.

		  Which of the statements given above is/are correct?
 	 (a)	  1 Only	 (b)	  2 Only 
 	 (c)	  Both 1 and 2 	 (d)	  Neither 1 nor 2
	 19.	 Consider the following statements in reference to 

the G-20 (G-20 group):
	  1.	 The chairmanship of the G-20 is awarded 

annually among the members in a cyclical 
manner.

	  2.	 Currently, India is part of the Troika of G-20.
	  3.	 Its agenda and work are coordinated by 

'Sherpa' ie representatives of the G-20 
countries.

	  4.	 It has its permanent headquarters or secretariat.
		   Which of the above statements are correct?
 	 (a)	 1, 2 and 4 Only	 (b)	 1, 2 and 3 Only 
 	 (c)	 3 and 4 Only 	 (d)	 1, 2, 3 and 4
	 20.	 Consider the following statements about the 

Financial Action Task Force (FATF):
	  1.	 It was formed at the G-7 meeting of developed 

countries in Paris.
	  2.	 Its secretariat is located in Switzerland at 

the headquarters of the Organization for 
Economic Co-operation and Development 
(OECD).
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	 3-	 Hkkjr 2010 esa FATF dk iw.kZ lnL; cuk FkkA
	 4-	 FATF xzs fyLV vkSj CySd fyLV tkjh djrh gSA

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 1] 3 vkSj 4
	 (c)	 dsoy 3 vkSj 4	 (d)	 dsoy 4

	21-	fuEufyf•r esa ls dkSu&lk ns'k nf{k.k&iwoZ ,f'k;kbZ jk"Vª 
la?k dk lnL; ugha gS\

	 (a)	 E;k¡ekj	 (b)	 ykvksl
	 (c)	 ikiqvk U;w fxuh	 (d)	 fiQyhihal

	22-	fuEufyf•r esa ls fdl lewg ds lHkh pkjksa ns'k vksisd 
ds lnL; gSa\

	 (a)	 drj] bZjku] bjkd] osustq,yk
	 (b)	 bZjku] dqoSr] osustq,yk] lÅnh vjc
	 (c)	 lÅnh vjc] yhfc;k] la;qDr vjc vehjkr] drj 
	 (d)	 vYthfj;k] drj] bjkd] ukbthfj;k

	23-	fuEufyf•r esa ls fdl ns'k dh lhek bFkksfi;k ls ugha 
yxrh gS\

	 (a)	 bfjfVª;k	 (b)	 nf{k.k lwMku
	 (c)	 ;wxkaMk	 (d)	 dsU;k

	24-	Hkkjr dk 'kq¼ 'kwU; dkcZu y{; ds lanHkZ esa fuEufyf•r 
esa ls dkSu&lk dFku lgh ugha gS\

	 (a)	 Hkkjr us dksi&26 esa o"kZ 2070 rd 'kq¼ 'kwU; 
dkcZu y{; j•k gSA 

	 (b)	 2025 rd 100 xhxkokV lkSj ÅtkZ dk y{; çkIr 
djukA 

	 (c)	 o"kZ 2030 rd mRltZu rhozrk esa 33&35 çfr'kr 
dh deh ykukA 

	 (d)	 175 xhxkokV uohdj.kh; ÅtkZ LFkkfir djus dk 
y{;A 

	25-	fuEufyf•r esa ls fdl lewg ds lHkh pkjksa ns'k G-4 
ds lnL; gSa\

	 (a)	 czkthy] Hkkjr] tkiku] baMksusf'k;k
	 (b)	 teZuh] baMksusf'k;k] Hkkjr] nf{k.k vÚhdk
	 (c)	 czkthy] nf{k.k vÚhdk] teZuh] tkiku
	 (d)	 czkthy] Hkkjr] teZuh] tkiku

	26-	iwohZ ,f'k;k f'k•j lEesyu (EAS) ds lanHkZ esa 
fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 bldh vè;{krk dsoy vkfl;ku lnL; gh dj 
ldrs gSaA

	 2-	 Hkkjr bZ,,l ds laLFkkid lnL;ksa esa ls ,d gSA
	 3-	 Hkkjr us bZ,,l 2019 esa baMks&iSflfiQd vks'ku 

bfuf'k,fVo (IPOI) dk vukoj.k fd;kA

	  3.	 India became a full member of FATF in 2010.
	  4.	 FATF issues gray list and black list.
		   Which of the above statements is/are correct?
 	 (sa)	 1 and 2 Only 	 (b)	 1, 3 and 4
 	 (c)	 3 and 4 Only 	 (d)	 4 Only
	 21.	 Which of the following countries is not a member 

of the South-East Asian Rashtra Association?
 	 (a)	  Myanmar 	 (b)	  Laos

 	 (c)	  Papua New Guinea 	(d)	  philippines

	 22.	 Which of the following groups are all four 
countries members of OPEC?

	 (a)	 Qatar, Iran, Iraq, Venezuela
	 (b)	 Iran, Kuwait, Venezuela, Saudi Arabia
	 (c)	 Saudi Arabia, Libya, United Arab Emirates, 

Qatar
	 (d)	 Algeria, Qatar, Iraq, Nigeria
	 23.	 In the following, what country's border is not 

connected to Ethiopia?
	 (a)	  Eritrea 	 (b)	  South Sudan
	 (c)	  Uganda 	 (d)	  Kenya
	 24.	 Which of the following statements is not true 

regarding India's net zero carbon target?
	 (a)	 India has set a target of net zero carbon till 

the year 2070 in COP-26.
	 (b)	 To achieve aim of 100 gigawatts of solar 

energy by 2025.
	 (c)	 33-35 percent reduction in emission intensity 

by year 2030.
	 (d)	 Aim to get 175 gigawatts of renewable energy.
	 25.	 All the four countries of which group in the 

following are members of the G-4?
	 (a)	 Brazil, India, Japan, Indonesia
	 (b)	 Germany, Indonesia, India, South Africa
	 (c)	 Brazil, South Africa, Germany, Japan
	 (d)	 Brazil, India, Germany, Japan
	 26.	 Consider the following statements in the context 

of the East Asia Summit (EAS):
	 1.	 Its chairmanship can Only be done by Asian 

members.
	 2.	 India is one of the founding members of EAS.
	 3.	 India unveiled the Indo-Pacific Ocean 

Initiative (IPOI) at EAS 2019.
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	 	mi;ZqDr esa ls dkSu&ls dFku lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3 

	 27-	Hkkjr&vÚhdk j{kk laokn dk vk;kstu fuEufyf•r esa 
ls dgk¡ fd;k x;k\

	 (a)	 xka/huxj 	 (b)	 ubZ fnYyh
	 (c)	 gSnjkckn	 (d)	 dkfgjk

	28-	,DV bZLV ikWfylh ds laca/ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 ;g ^yqd bZLV ikWfylh* dk mUu;u gSA
	 2-	 ;g fofHkUu Lrjksa ij fo'kky ,f'k;k&ç'kkar {ks=k ds 

lkFk vkfFkZd] j.kuhfrd vkSj lkaLÑfrd laca/ksa dks 
c<+kok nsus gsrq ,d jktuf;d igy gSA

	 3-	 ,DV bZLV ikWfylh ds rgr 4C gSa& laLÑfr] okf.kT;] 
dusfDVfoVh vkSj {kerk fuekZ.kA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2
	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3
	 (d)	 1] 2] vkSj 3 

	29-	oYMZ okbM osc ds laLdj.kksa ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s% 

	 1-	 osc 1-0 dh 'kq#vkr 20oha lnh ds iwokZ¼Z esa mÙkjh 
vesfjdk esa gqbZ FkhA 

	 2-	 osc 3-0 ,d fMftVy nqfu;k cukus dk ç;kl djrk 
gS tgk¡ yksx fdlh eè;LFk dh vko';drk ds 
fcuk ^jhM&jkbV&,DthD;wV* djus esa l{ke gksaxsA 

	 3-	 osc 2-0 dks ̂ dsoy i<+us* ds fy;s baVjusV ds :i 
esa Hkh tkuk tkrk gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1 vkSj 2	 (b)	 dsoy 2 
	 (c)	 1 vkSj 3 	 (d)	 dsoy 3 

	30-	fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 dkcZu MsfVax çkphu LFkyksa ls thok'eksa vkSj 
iqjkrkfÙod dykÑfr;ksa dh vk;q dk vuqeku yxkus 
dh ,d fof/ gSA 

	 2-	 ok;qeaMy esa dkcZu dk lcls çpqj leLFkkfud 
C-14 gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 
	 (d)	 u rks 1 vkSj u gh 2 

		   Which of the following statements are correct?
 	 (a)	 1 and 2 Only 	 (b)	 1 and 3 Only
 	 (c)	 2 and 3 Only 	 (d)	 1, 2 and 3 
	 27.	 India-Africa defense dialogue was organized in 

the following places?
 	 (a)	  Gandhinagar 	 (b)	  New Delhi
	 (c)	  Hyderabad 	 (d)	  Cairo
	 28.	 Consider the following statements regarding the 

Act East policy:
	 1.	 This is an upgrade of the 'Look East Policy'.
	 2.	 This is a diplomatic initiative to promote 

economic, strategic and cultural relations with 
the vast Asia-Pacific region at various levels.

	 3.	 The 4Cs under Act East Policy are Culture, 
Commerce, Connectivity and Capacity 
Building.

		  Which of the statement(s) given above is/are 
correct?

 	 (a)	 1 and 2 Only 
	 (b)	 Only 1 and 3
 	 (c)	 Only 2 and 3 
	 (d)	 1, 2, and 3 
	 29.	 Consider the following statements regarding 

versions of the World Wide Web:
	 1.	 Web 1.0 began in North America in the early 

20th century.
	 2.	 Web 3.0 tries to create a digital world where 

people will be able to 'read-write-execute' 
without the need of an intermediary.

	 3.	 Web 2.0 is also known as the 'read Only' 
Internet.

		  Which of the statement(s) given above is/are 
correct?

 	 (a)	  1 and 2 	 (b)	  2 Only
 	 (c)	 1 and 3 	 (d)	 3 Only
	 30.	 Consider the following statements:
	  1.	 Carbon dating is a method of estimating the 

age of fossils and archaeological artifacts 
from ancient sites.

	 2.	 The most abundant isotope of carbon in the 
atmosphere is C-14.

		  Which of the statement(s) given above is/are 
correct?

 	 (a)	 1 Only 
	 (b)	 2 Only
 	 (c)	 Both 1 and 2 
	 (d)	 Neither 1 nor 2
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	 31-	fuEufyf•r esa ls dkSu&lk ekuo fodkl ds pj.k dk 
lgh vuqØe gS\

	 (a)	 jkekfiFksdl] Mªk;ksfiFksdl] vkWLVªyksfiFksdl] 
gkseksbjsDVl

	 (b)	 Mªk;ksfiFksdl] vkWLVªyksfiFksdl] jkekfiFksdl] 
gkseksbjsDVl 

	 (c)	 vkWLVªyksfiFksdl] jkekfiFksdl] gkseksbjsDVl] 
Mªk;ksfiFksdl

	 (d)	 Mªk;ksfiFksdl] jkekfiFksdl] vkWLVªyksfiFksdl] 
gkseksbjsDVl

	32-	fuEufyf•r dFkuksa ij fopkj dhft;s%
	 1-	 nDNA U;wfDy;j esEczsu ls f?kjk gksrk gS] tcfd 

mtDNA U;wfDy;j esEczsu ls f?kjk ugha gksrk gSA 
	 2-	 nDNA dsoy ekrk ls çkIr gksrk gS tcfd 

mtDNA ekrk&firk nksuksa ls çkIr gksrk gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 
	 (d)	 u rks 1 vkSj u gh 2 

	33-	tyh; i;kZoj.k ds çca/u gsrq dkcZu MkWV~l ds D;k 
vuqç;ksx gks ldrs gSa\

	 1-	 çnw"kd laosnd
	 2-	 çnw"kd xzkgh
	 3-	 jksxk.kqjks/h ds :i esa
	 4-	 çnw"kd inkFkks± esa fxjkoV esa lgk;d

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%
	 (a)	 dsoy 1] 2 vkSj 4 	 (b)	 dsoy 1] 2 vkSj 3 
	 (c)	 dsoy 3 vkSj 4   	 (d)	 1] 2] 3 vkSj 4

	34-	"fiylZ vkWiQ fØ,'ku" ds laca/ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1-	 ;g rkjs ds chp dh /wy vkSj xSl ls cus rhu 
mHkjrs Vkojksa dk ,d n`'; gSA

	 2-	 ;s bZxy uscqyk ds dsaæ esa fLFkr gS] ftls esfl;j 
16 ds uke ls Hkh tkuk tkrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2 

	35-	"varjkZ"Vªh; eksckby midj.k igpku (IMEI) la[;k" 
ds ckjs esa fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 dLVe foHkkx Hkkjr esa midj.kksa ds IMEI uacjksa 
dh tk¡p vkSj fjdkWMZ dj ldrk gSA

	 2-	 CySdfyLV esa IMEI uacj okys midj.kksa dks 
i;Zos{k.k ds rgr dusDV djus dh vuqefr gSA

	 31.	 Which of the following is the correct sequence of 
the stages of human development?

	 (a)	 Ramapithecus, Dryopithecus, Australopithe- 
cus, Homoerectus

	 (b)	 Dryopithecus, Australopithecus, Ramapithe- 
cus, Homoerectus

	 (c)	 Australopithecus, Ramapithecus, Homoerec- 
tus, Dryopithecus

	 (d)	 Dryopithecus, Ramapithecus, Australopithe- 
cus, Homoerectus

	 32.	 Consider the following statements:
	 1.	 nDNA is surrounded by nuclear membrane 

while mtDNA is not surrounded by nuclear 
membrane.

	 2.	 nDNA is inherited from the mother Only while 
mtDNA is inherited from both the parents.

		  Which of the statement(s) given above is/are 
correct?

 	 (a)	 1 Only 	 (b)	 2 Only
 	 (c)	 Both 1 and 2  	 (d)	 Neither 1 nor 2
	 33.	 What applications could Carbon Dots have for 

managing the aquatic environment?
	 1.	 Pollutant Sensor
	 2.	 Pollutant Receptor
	 3.	 As an antimicrobial
	 4.	 Aids in the reduction of pollutants
		  Select the correct answer using the code given 

below :
 	 (a)	 1, 2 and 4 Only	 (b)	 1, 2 and 3 Only 
 	 (c)	 3 and 4 Only 	 (d)	 1, 2, 3 and 4
	 34.	 Consider the following statements regarding 

'Pillars of Creation':
	 1.	 This is a view of three rising towers made of 

interstellar dust and gas.
	 2.	 It is located at the center of the Eagle Nebula, 

also known as Messier 16.
		  Which of the statements given above is/are correct?
 	 (a)	 1 Only 	 (b)	 2 Only
 	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
	 35.	 Consider the following statements regarding 

International Mobile Equipment Identity (IMEI) 
number:

	 1.	 The Customs Department can check and 
record the IMEI numbers of devices in India.

	 2.	 Devices with IMEI numbers in the blacklist 
are allowed to connect under supervision.



10
lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009

nwjHkk"k% 8750187501, 011-47532596
bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2 

	36-	ykWUp Oghdy ekdZ 3' ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1-	 bl mixzg ç{ksi.k ;ku esa L110 rjy pj.k vkSj 
C25 Øk;kstsfud pj.k 'kkfey gSaA

	 2-	 ;g ç{ksi.k ;ku 4,000 fdyksxzke oxZ ds mixzgksa 
dks ft;ksflaØksul VªkaliQj vkWfcZV esa ykWUp djus 
esa l{ke gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 
	 (d)	 u rks 1 vkSj u gh 2 

	37-	fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 ck;ksekl dks&iQk;fjax dks;yk FkeZy la;a=kksa esa 
ck;ksekl ds lkFk bZa/u ds ,d fgLls dks çfrLFkkfir 
djus dh ,d fof/ gSA 

	 2-	 dks&iQk;fjax fctyh la;a=kksa okys xzhugkml xSl 
mRltZu dks de djus dk ,d fodYi gSA  

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2 

	38-	dkfedst Mªksu ds laca/ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 bUgsa fLop CysM Hkh dgk tkrk gSA
	 2-	 Mªksu esa vius y{;ksa ij çgkj djus ds fy;s ikjaifjd 

ekspkZcanh dks ikj djus dh {kerk gksrh gSA
	 3-	 bu NksVs ?kkrd Mªksuksa dk irk jMkj ij yxk;k tk 

ldrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3 

	39-	'csVh cpkvks csVh i<+kvks' ;kstuk (BBBP) ds lanHkZ esa 
fuEufyf•r dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

	 1-	 bls dsoy efgyk ,oa cky fodkl ea=kky; (MW-
CD) }kjk dk;kZfUor fd;k tkrk gSA

	 2-	 xqM~Mh&xqM~Mk cksMZ ;kstuk ds çeq• ?kVdksa esa ls 
,d gSA

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2 

		  Which of the statement(s) given above is/are 
correct?

 	 (a)	  1 Only 	 (b)	  2 Only
	 (c)	  Both 1 and 2 	 (d)	  Neither 1 nor 2
	 36.	 With reference to 'Launch Vehicle Mark 3', 

consider the following statements:
	 1.	 This satellite launch vehicle consists of L110 

liquid stage and C25 cryogenic stage.
	 2.	 This launch vehicle is capable of launching 

4,000 kg class satellites into Geosynchronous 
Transfer Orbit.

		  Which of the statement(s) given above is/are 
correct?

 	 (a)	 1 Only 	 (b)	 2 Only
 	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
	 37.	 Consider the following statements:
	 1.	 Biomass co-firing is a method of replacing 

a portion of the fuel with biomass in coal 
thermal plants.

	 2.	 Co-firing is an alternative to reduce greenhouse 
gas emissions from power plants.

		   Which of the statement(s) given above is/are 
correct?

	 (a)	 1 Only 	 (b)	 2 Only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
	 38.	 Consider the following statements regarding 

Kamikaze drones:
	 1.	 They are also called switch blades.
	 2.	 These drones have the capability to cross 

conventional barricades to strike their targets.
	 3.	 These small deadly drones can be detected on 

radar.
		  Which of the above statements are correct?
 	 (a)	 1 and 2 Only 	 (b)	 1 and 3 Only
 	 (c)	 2 and 3 Only 	 (d)	 1, 2, and 3 
	 39.	 Which of the following statement(s) is/are correct 

with respect to 'BetiBachaoBetiPadhao' scheme 
(BBBP)?

	 1.	 It is implemented by the Ministry of Women 
and Child Development (MW-CD) Only.

	 2.	 The Guddi-gudda board is one of the key 
components of the scheme.

		  Select the correct answer using the code given 
below :

 	 (a)	  1 Only 	 (b)	  2 Only
	 (c)	  Both 1 and 2	 (d)	  Neither 1 nor 2
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	40-	fo'o oU;tho dks"k (WWF) ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s% 

	 1-	 ;g ,d xSj&ljdkjh laxBu gS] ftldh LFkkiuk 
1961 esa gqbZ FkhA

	 2-	 bldk eq[;ky; dsU;k ds uSjksch esa fLFkr gSA 
	 3-	 ;g laj{k.k ls lacaf/r fo'o dk lcls cM+k 

laxBu gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	41-	fyfoax IysusV fjiksVZ fuEufyf•r esa ls dkSu tkjh 
djrk gS\

	 (a)	 fo'o oU;tho dks"k
	 (b)	 la;qDr jk"Vª fodkl dk;ZØe
	 (c)	 i;kZoj.k laj{k.k ls lacaf/r laLFkku 
	 (d)	 vkbZ;wlh,u

	42-	fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 Bksl vif'k"V çca/u fu;e 2016 ds vuqlkj 
dsoy xSj&iquuZohdj.k ;ksX; xSj&tSo fuEuhdj.k 
vkSj xSj&ngu'khy vif'k"V dks gh lSfuVjh ySaMfiQy 
esa tek djus dh vuqefr gSA 

	 2-	 Bksl vif'k"V çca/u fu;e 2016 rgr vif'k"V 
mRiknd dks ik¡p dksfV;ksa esa vif'k"V vyx&vyx 
djus gksaxsA

	 3-	 Bksl vif'k"V çca/u fu;e 2016 ds fu;e dsoy 
vf/lwfpr uxjh; LFkkuh; fudk;ksa] vf/lwfpr uxjksa 
rFkk vkS|ksfxd uxjksa ij gh ykxw gksaxsA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1 vkSj 2	 (b)	dsoy 2 
	 (c)	 2 vkSj 3 	 (d)	dsoy 1 

	 43-	jkWVjMSe vfHkle; ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 bl vfHkle; dks flracj 1998 esa uhnjySaM ds 
jkWVjMSe esa ̂ IysfuiksVsafV;jht dkWUÚsal* }kjk viuk;k 
x;k FkkA 

	 2-	 ;g iQjojh 2006 esa ykxw gqvkA 
	 3-	 Hkkjr bldk lnL; gSA 
	 4-	 bl vfHkle; ds rgr ,sls dhVuk'kdksa vkSj 

vkS|ksfxd jlk;uksa dks LokLF; ,oa i;kZoj.kh; 
dkj.kksa ls çfrcaf/r fd;k x;k gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1] 3 vkSj 4 	 (b)	dsoy 1] 2 vkSj 3 
	 (c)	 dsoy 3 vkSj 4   	 (d)	1] 2] 3 vkSj 4

	 40.	 With reference to the World Wildlife Fund (WWF), 
consider the following statements: 

	 1.	 It is a non-governmental organization, 
founded in 1961.

	 2.	 Its headquarters is located in Nairobi, Kenya. 
	 3.	 It is the world's largest organization related to 

conservation. 
		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 and 2 	 (b)	 Only 1 and 3
	 (c)	 Only 2 and 3 	 (d)	 1, 2 and 3 
	 41.	 Who among the following releases the Living 

Planet Report?
	 (a)	 World Wildlife Fund
	 (b)	 United Nations Development Programme
	 (c)	 Institutions related to environmental protection 
	 (d)	 IUCN
	 42.	 Consider the following statements:
	 1.	 As per solid waste management rules 2016, 

only non-recyclable non-biodegradable and 
non-combustible waste is allowed to be stored 
in sanitary landfills. 

	 2.	 Under the Solid Waste Management Rules 
2016, the waste producer will have to 
segregate waste into five categories.

	 3.	 The Solid Waste Management Rules, 2016 
shall be applicable only to notified urban local 
bodies, notified towns and industrial towns.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 and 2	 (b)	 Only 2 
	 (c)	 2 and 3 	 (d)	 Only 1 
	 43.	 With reference to the Rotterdam Convention, 

consider the following statements:
	 1.	 This convention was adopted by the 

‘Plennipotentiaries Conference’ in Rotterdam, 
Netherlands in September 1998. 

	 2.	 It came into force in February 2006. 
	 3.	 India is the member of this convention. 
	 4.	 Under this Convention, such pesticides and 

industrial chemicals are prohibited for health 
and environmental reasons. 

		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1, 3 and 4 	 (b)	 Only 1, 2 and 3 
	 (c)	 Only 3 and 4 	 (d)	 1, 2, 3 and 4
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	44-	tynwr ,i ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 

dhft;s%

	 1-	 ;g Hkkjr ds lHkh {ks=kksa esa Hkwty Lrj dk lgh 

MsVk ,d=k djus ds fy;s cuk;k x;k gSA 

	 2-	 bls ty 'kfDr ea=kky; }kjk ykWUp fd;k x;k gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	45-	mÙkj çns'k ds fuEufyf•r esa ls dkSu&ls Vkbxj fj”koZ 

gSa\

	 1-	 nq/ok jk"Vªh; m|ku

	 2-	 ihyhHkhr 

	 3-	 veux<+

	 4-	 pacy jk"Vªh; vHk;kj.;

	 5-	 jkuhiqj oU;tho vHk;kj.;

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 1] 2] 3 vkSj 5	 (b)	dsoy 2 vkSj 4
	 (c)	 dsoy 1] 3 vkSj 5	 (d)	1] 2] 3] 4 vkSj 5

	46-	LysaMj yksfjl vHk;kj.; ds lanHkZ esa fuEufyf•r dFkuksa 

ij fopkj dhft;s%

	 1-	 Hkkjr ds rfeyukMq esa blds fy;s vHk;kj.; ?kksf"kr 

fd;k x;k gSA 

	 2-	 bls oU;tho laj{k.k vf/fu;e&1972  ds rgr 

vf/lwfpr fd;k x;k gSA

	 3-	 ;g Hkkjr dh LFkkfud çtkfr gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	47-	lkSj Hkw&vfHk;kaf=kdh ds lanHkZ esa fuEufyf•r dFkuksa ij 

fopkj dhft;s%

	 1-	 ,d ,slh çkS|ksfxdh dks lanfHkZr fd;k tkrk gS] 

tks lS¼kafrd :i ls i`Foh ds çdk'k dks ijkofrZr 

djds rkieku o`f¼ dks jksd ldrh gSA 

	 2-	 bldk mís'; ok;qeaMy esa xzhugkml xSlksa dh ek=kk 

dks de djuk ugha gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	 48-	pksjkckM+h fgeun dgk¡ vofLFkr gS\

	 (a)	 x<+oky fgeky;	 (b)	vle fgeky;

	 (c)	 usiky fgeky;	 (b)	Vªkal fgeky;

	 44.	 Consider the following statements with reference 
to Jaldoot App:

	 1.	 It is designed to collect accurate data of 
groundwater level in all regions of India. 

	 2.	 It has been launched by the Ministry of Jal 
Shakti. 

		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 	 (b)	 Only 2 
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2 
	 45.	 Which of the following are tiger reserves of Uttar 

Pradesh?
	 1.	 Dudhwa National Park
	 2.	 Pilibhit 
	 3	 Amangarh
	 4.	 Chambal National Sanctuary
	 5.	 Ranipur Wildlife Sanctuary
		  Select the correct answer using the code given 

below:
	 (a)	 1, 2, 3 and 5 	 (b)	 Only 2 and 4
	 (c)	 Only 1, 3 and 5 	 (d)	 1, 2, 3, 4 and 5
	 46.	 Consider the following statements with reference 

to Slander Loris Sanctuary:
	 1.	 A sanctuary has been declared for it in  

Tamil Nadu, India. 
	 2.	 It has been notified under the Wildlife 

Protection Act-1972.
	 3.	 It is an endemic species of India. 
		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 and 2 	 (b)	 Only 1 and 3
	 (c)	 Only 2 and 3 	 (d)	 1, 2 and 3 
	 47.	 With reference to solar geo-engineering, consider 

the following statements:
	 1.	 it refers to a technology that can theoretically 

prevent temperature rise by reflecting earth's 
light. 

	 2.	 It is not intended to reduce the amount of 
greenhouse gases in the atmosphere. 

		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 	 (b)	 Only 2 
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
	 48.	 Where is the Chorabari glacier located?
	 (a)	 Garhwal Himalayas 	(b)	 Assam Himalayas
	 (c)	 Nepal Himalayas 	 (b)	 Trans Himalayas
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	49-	fuEufyf•r esa ls dkSu&ls fgeun vijfnr Hkw&vkÑfr 
ds varxZr 'kkfey gSa\

	 1-	 ,jsVs	 2-	,Ldj
	 3-	 Mh&iQtkWMZ	 4-	Mªefyu

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 1 vkSj 2	 (b)	2 vkSj 4 
	 (c)	 3 vkSj 4	 (d)	1 vkSj 3

	50-	fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 LySc fgeL•yu dh ?kVuk rc gksrh gS tc fdlh 
fge•aM dh de”kksj ijr 'kh"kZ ij gksrh gSA 

	 2-	 LyiQ fgeL•yu dh ?kVuk rc gksrh gS tc de”kksj 
ijr fge•aM ds uhps dh vksj gksrh gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	51-	varjkZ"Vªh; vkink tksf•e U;wuhdj.k fnol fdl frfFk 
dks euk;k tkrk gS\

	 (a)	 16 flracj	 (b)	13 vDrwcj
	 (c)	 25 uoacj	 (d)	10 fnlacj

	52-	lqdkikbdk unh fdldh lgk;d unh gS\

	 (a)	 nkeksnj unh	 (b)	Lo.kZjs•k unh
	 (c)	 egkunh	 (d)	xksnkojh unh

	53-	vjkoyh ioZr ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 ;g Hkkjr esa ofyr ioZrksa dh lcls iqjkuh  Ük̀a•yk gSA 
	 2-	 ;g jktLFkku] gfj;k.kk] xqtjkr vkSj fnYyh esa 

foLrkfjr gSA 
	 3-	 bldh lokZsPp pksVh xq# f'k•j gSA 
	 4-	 ;g ioZr  Ük`a•yk •futksa ls le`¼ gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1] 3 vkSj 4 	 (b)	dsoy 1] 2 vkSj 3 
	 (c)	 dsoy 2 vkSj 4  	 (d)	1] 2] 3 vkSj 4

	54-	jcM+ cksMZ ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 ;g jcM+ cksMZ vf/fu;e 1947 ds rgr xfBr 
,d oS/kfud fudk; gSA 

	 2-	 ;g Ñf"k ea=kky; ds ç'kklfud fu;a=k.k ds rgr 
dk;Z djrk gSA

	 3-	 bldk eq[;ky; dksV~Vk;e (dsjy) esa gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1 vkSj 3	 (b)	dsoy 2 
	 (c)	 2 vkSj 3 	 (d)	dsoy 3 

	 49.	 Which of the following glaciers are included under 
the eroded landform?

	 1.	 Arete 	 2.	 Asker
	 3.	 D-Fjord	 4.	 Drumlin
		  Select the correct answer using the code given 

below:
	 (a)	 1 and 2 	 (b)	 2 and 4 
	 (c)	 3 and 4 	 (d)	 1 and 3
	 50.	 Consider the following statements:
	 1.	 Slab avalanche phenomenon occurs when the 

weak layer of an iceberg is placed at the top. 
	 2.	 Sluff avalanche occurs when the weak layer 

is placed at the bottom of the iceberg. 
		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 	 (b)	 Only 2 
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
	 51.	 International Disaster Risk Reduction Day is 

observed on which date?
	 (a)	 September 16 	 (b)	 October 13
	 (c)	 November 25 	 (d)	 December 10
	 52.	 Sukapaika river is a tributary of which river?
	 (a)	 Damodar River 	 (b)	 Swarnarekha River
	 (c)	 Mahanadi 	 (d)	 Godavari River
	 53.	 Consider the following statements with reference 

to Aravalli Mountain:
	 1.	 It is the oldest range of folded mountains in 

India. 
	 2.	 It extends to Rajasthan, Haryana, Gujarat and 

Delhi. 
	 3.	 Its highest peak is guru shikhar. 
	 4.	 This mountain range is rich in minerals. 
		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1, 3 and 4 	 (b)	 Only 1, 2 and 3 
	 (c)	 Only 2 and 4 	 (d)	 1, 2, 3 and 4
	 54.	 With reference to rubber board, consider the 

following statements:
	 1.	 It is a statutory body constituted under the 

Rubber Board Act 1947. 
	 2.	 It functions under the administrative control 

of the Ministry of Agriculture.
	 3.	 It is headquartered in Kottayam (Kerala). 
		  Which of the above statement(s) is/are correct?
	 (a)	 1 and 3 	 (b)	 Only 2 
	 (c)	 2 and 3 	 (d)	 Only 3 
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	55-	Xykscy gaxj baMsDl ds ?kVd ds varxZr dkSu&ls 
'kkfey gSa\

	 1-	 vYiiks"k.k	 2-	pkbYM LVafVax
	 3-	 pkbYM osfLVax	 4-	cky e`R;q nj

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1] 3 vkSj 4 	 (b)	dsoy 1] 2 vkSj 3 
	 (c)	 dsoy 2 vkSj 4  	 (d)	1] 2] 3 vkSj 4

	56-	Vsyh ekul igy ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 ;g igy pkSchlksa ?kaVs miyC/ ekufld LokLF; 
lsok igy gSA 

	 2-	 bl igy dks rduhdh lgk;rk vkbZvkbZVh fnYyh 
}kjk çnku dh tk,xhA 

	 3-	 ;g igy jk"Vªh; ekufld LokLF; dk;ZØe vkSj 
ftyk ekufld LokLF; dk;ZØe dh fMftVy 'kk•k 
gksxhA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	57-	tsaMj LuSi'kkWV 2022 fjiksVZ ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1-	 ;g ;w,u ohesu rFkk la;qDr jk"Vª vkfFkZd vkSj 
lkekftd ekeyksa ds foHkkx us tkjh dh gSA 

	 2-	 bl fjiksVZ ds vuqlkj iw.kZ ySafxd lekurk çkIr 
djus esa 286 o"kZ yxsaxsA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	58-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

		  oL=k		  {ks=k 
	 1-	 VksMk d<+kbZ	 —	 rfeyukMq 
	 2-	 dquch cqukbZ 	 —	 xksok
	 3-	 xknZ&dksjkby cqukbZ  	—	 ia- caxky
	 4-	 bydy d<+kbZ 	 —	 vka/z çns'k

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe 	 (b)	dsoy nks ;qXe 
	 (c)	 dsoy rhu ;qXe	 (d)	lHkh pkjksa ;qXe 

	59-	egkdkys'oj T;ksfrfyZax] mTtSu ds laca/ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1-	 ;g f'ko ds lcls ifo=k fuokl ekus tkus okys 
12 T;ksfrfyZaxksa esa ls ,d gSA

	 2-	 ;g eafnj Hkkjr esa 18 egk'kfDr ihBksa esa ls ,d 
ds :i esa çfrf"Br gSA

	 55.	 Which are included under the component of Global 
Hunger Index?

	 1.	 Undernourishment 	2.	 Child stunting
	 3.	 Child Wasting 	  4.	 Child mssortality rate
		  Select the correct answer using the code given 

below:
	 (a)	 Only 1, 3 and 4 	 (b)	 Only 1, 2 and 3 
	 (c)	 Only 2 and 4 	 (d)	 1, 2, 3 and 4
	 56.	 Consider the following statements with reference 

to telemanas initiative:
	 1.	 This initiative is a 24x7 mental healthcare 

initiative. 
	 2.	 This initiative technical support will be 

provided by IIT Delhi. 
	 3.	 The initiative will be the digital arm of the 

National Mental Health Programme and the 
District Mental Health Programme. 

		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 and 2 	 (b)	 Only 1 and 3
	 (c)	 Only 2 and 3 	 (d)	 1, 2 and 3 
	 57.	 Consider the following statements with reference 

to the Gender Snapshot 2022 report:
	 1.	 It has been released by UN Women and the 

United Nations Department of Economic and 
Social Affairs. 

	 2.	 According to this report, it will take 286 years 
to achieve full gender equality. 

		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 	 (b)	 Only 2 
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
	 58.	 Consider the following pairs:
			  textile	  	sector 
	 1.	 Toda Embroidery	 –	 Tamil Nadu 
	 2.	 Kunbi Weaving	 –	 Goa
	 3.	 Gard-Coryl Weaving	 –	 west Bengal
	 4.	 Ilkal Embroidery	 –	 Andhra Pradesh
		  How many of the above pairs are correctly 

matched?
	 (a)	 Only one pair 	 (b)	 Only two pairs 
	 (c)	 Only three pairs 	 (d)	 All four pairs 
	 59.	 Consider the following statements regarding 

Mahakaleshwar Jyotirlinga, Ujjain:
	 1.	 It is one of the 12 Jyotirlingas considered to 

be the most sacred abode of Shiva.
	 2.	 This temple is revered as one of the 18 

Mahashakti Peethas in India.
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	 3-	 ;g mÙkjeq•h ,dek=k T;ksfrfyZax gS] tcfd vU; 
lHkh iwoZeq•h gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	60-	oSf'od Hkq•ejh lwpdkad (GHI) 2022 ds lanHkZ esa 
fuEufyf•r dFkuksa ij fopkj dhft;s %

	 1-	 ;g fo'o •k| dk;ZØe }kjk çdkf'kr ,d okf"kZd 
fjiksVZ gSA

	 2-	 Hkkjr o"kZ 2022 esa 121 ns'kksa esa 107osa LFkku 
ij gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 
	 (d)	 u rks 1 vkSj u gh 2 

	61-	yksFky ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 yksFky esa nqfu;k dk lcls iqjkuk Kkr canjxkg 
Fkk] tks 'kgj dks lkcjerh unh ds çkphu ekxZ ls 
tksM+rk FkkA

	 2-	 yksFky] xqtjkr esa jk"Vªh; leqæh fojklr ifjlj 
(NMHC) dks varjkZ"Vªh; i;ZVu LFky ds :i esa 
fodflr fd;k tk jgk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	 62-	Hkkjr esa xHkZikr dkuwu ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1-	 xHkZ dk fpfdRlh; lekiu vf/fu;e (MTP) 
la'kks/u vf/fu;e] 2021 vfookfgr efgykvksa 
dks xHkZfujks/d fof/ ;k midj.k dh foiQyrk ds 
ekeys esa xHkkZoLFkk dks lekIr djus dh vuqefr 
ugha nsrk gSA

	 2-	 o"kZ 2022 esa lokZsPp U;k;ky; us vfookfgr 
efgykvksa dks mudh xHkkZoLFkk esa 20 lIrkg rd 
lqjf{kr vkSj dkuwuh xHkZikr ns•Hkky dh lqfo/k 
çnku dhA

	 	mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 	
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 
	 (d)	 u rks 1 vkSj u gh 2 

	 3.	 It is the only Jyotirlinga facing north, while 
all others are east facing.

		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 and 2 	 (b)	 Only 1 and 3
	 (c)	 Only 2 and 3 	 (d)	 1, 2 and 3
	 60.	 With reference to the Global Hunger Index (GHI) 

2022, consider the following statements:
	 1.	 This is an annual report published by the 

World Food Programme.
	 2.	 India is ranked 107th out of 121 countries in 

the year 2022.
		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 
	 (b)	 Only 2 
	 (c)	 Both 1 and 2 
	 (d)	 Neither 1 nor 2 
	 61.	 Consider the following statements with reference 

to Lothal:
	 1.	 Lothal had the oldest known port in the world, 

connecting the city with the ancient route of 
the Sabarmati River.

	 2.	 National Maritime Heritage Complex 
(NMHC) in Lothal, Gujarat is being developed 
as an International Tourist Destination.

		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 	 (b)	 Only 2 
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
	 62.	 Consider the following statements with reference 

to abortion law in India:
	 1.	 The Medical Termination of Pregnancy Act 

(MTP) Amendment Act, 2021 does not allow 
unmarried women to terminate pregnancy in 
case of failure of contraceptive method or 
device.

	 2.	 In the year 2022, the Supreme Court facilitated 
safe and legal abortion care to unmarried 
women up to 20 weeks in their pregnancy.

		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 
	 (b)	 Only 2 
	 (c)	 Both 1 and 2 
	 (d)	 Neither 1 nor 2 
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	63-	fiNys ,d o"kZ esa Hkkjrh; #i, esa 10 iQhlnh ls ”;knk 
dh fxjkoV vkbZ gSA ;g 80 #i, çfr MkWyj ds 
euksoSKkfud ekdZj dks ikj dj x;k gS vkSj Hkkjr dk 
fons'kh eqæk HkaMkj 100 fcfy;u vesfjdh MkWyj ls 
vf/d de gks x;k gSA fuEufyf•r esa ls dkSu&lk@ls 
Hkkjrh; #i, esa gky ds voewY;u dk dkj.k gS@gSa\

	 1-	 Hkkjr ds pkyw •krk ?kkVs esa o`f¼ A
	 2-	 vesfjdh iQsMjy fjtoZ }kjk njksa esa o`f¼ ls iwath 

cfgokZgA

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2 

	64-	gky gh esa Hkkjrh; iqjkrÙo loZs{k.k (ASI) us fuEufyf•r 
esa ls fdl Vkbxj fj”koZ esa ckS¼ xqiQkvksa vkSj Lrwiksa dh 
•kst dh gS\

	 (a)	 cka/ox<+ Vkbxj fjtoZ
	 (b)	 ihyhHkhr Vkbxj fjtoZ
	 (c)	 lfjLdk Vkbxj fjtoZ
	 (d)	 jkuhiqj Vkbxj fjtoZ

	65-	¶gYds yM+kdw foeku (LCA)¸ ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1-	 LCA dks oSekfudh fodkl ,tsalh }kjk fMtkbu 
fd;k x;k gSAA

	 2-	 rstl] usoh vkSj MK-1A LCA ds osfj,aV gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	66-	fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 çFkk,¡] vfHkO;fDr] Kku vkSj dkS'ky vewrZ 
lkaLÑfrd fojklr gks ldrs gSaA

	 2-	 gSnjkckn dh fge: cqukbZ Hkkjr dk fojklr oL=k 
f'kYi gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 
	 (d)	 u rks 1 vkSj u gh 2 

	67-	fuEufyf•r esa ls dkSu&lk Hkkjr dk igyk Lons'kh 
cgq&Hkwfedk okyk yM+kdw gsyhdkWIVj gS\

	 (a)	 HAL phrk
	 (b)	 HAL #æ
	 (c)	 HAL çpaM
	 (d)	 HAL psrd

	 63.	 The Indian rupee has depreciated by more than 10 
per cent in the last one year. It has crossed the 
psychological marker of Rs 80 per dollar and 
India's foreign exchange reserves have decreased 
by more than US$ 100 billion. Which of the 
following is/are the reason for the recent 
devaluation of Indian Rupee?

	 1.	 Increase in India's current account deficit.
	 2.	 Capital outflows from rate hikes by the US 

Federal Reserve.
		  Select the correct answer using the code given 

below:
	 (a)	 Only 1 	 (b)	 Only 2 
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2 
	 64.	 Recently, archaeological survey of India (ASI) has 

discovered Buddhist caves and stupas in which of 
the following tiger reserves?

	 (a)	 Bandhavgarh Tiger Reserve
	 (b)	 Pilibhit Tiger Reserve
	 (c)	 Sariska Tiger Reserve
	 (d)	 Ranipur Tiger Reserve
	 65.	 With reference to "Light Combat Aircraft (LCA)", 

consider the following statements:
	 1.	 LCA is designed by aeronautical development 

agency.
	 2.	 Tejas, Navy and MK-1A are variants of LCA.
		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 	 (b)	 Only 2 
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
	 66.	 Consider the following statements:
	 1.	 Practices, expressions, knowledge and skills 

can be intangible cultural heritage.
	 2.	 Hyderabad's Himru weaving is india's heritage 

textile craft.
		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 	
	 (b)	 Only 2 
	 (c)	 Both 1 and 2 
	 (d)	 Neither 1 nor 2 
	 67.	 Which of the following is India's first indigenous 

multi-role attack helicopter?
	 (a)	 HAL Cheetah
	 (b)	 HAL Rudra
	 (c)	 HAL Prachand
	 (d)	 HAL Chetak
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	68-	gky gh esa Hkkjr us lcejhu ykWUPM cSysfLVd felkby 

(SLBM) dh {kerk gkfly dh gSA bls fdl ijek.kq 

iuMqCch ls ijh{k.k fd;k x;k gS\

	 (a)	 vkbZ,u,l dyojh	 (b)	vkbZ,u,l vfjgar

	 (c)	 vkbZ,u,l fla/qjkt	 (d)	vkbZ,u,l 'kadq'k

	69-	phiQ vkWiQ fMiQsal LVkiQ (CDS) ds lanHkZ esa fuEufyf•r 

dFkuksa ij fopkj dhft;s%

	 1-	 og ,d ^Fkzh LVkj tujy@vkWfiQlj* gS] tks lHkh 

rhuksa lsokvksa ds ekeyksa esa j{kk ea=kh ds ç/ku lSU; 

lykgdkj ds :i esa dk;Z djrk gSA

	 2-	 mUgsa j{kk foHkkx esa lfpo dk ntkZ çkIr gS vkSj 

mudh 'kfDr;k¡ dsoy jktLo ctV rd gh lhfer 

jgsaxhA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 
	 (d)	 u rks 1 vkSj u gh 2 

	70-	dackbaM eSjhVkbe iQkslZsl vH;kl ds lanHkZ esa fuEufyf•r 

dFkuksa ij fopkj dhft;s%

	 1-	 bldh LFkkiuk o"kZ 2001 esa 12 ns'kksa ds lg;ksx 

ls vkradokn&jks/h lewg ds :i esa dh xbZ FkhA 

	 2-	 bldk eq[;ky; eukek (cgjhu) esa vofLFkr gSA 

	 3-	 bl vH;kl esa Hkkjrh; ukSlsuk igyh ckj Hkkx ys 

jgh gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	71-	fof'k"V vkfFkZd {ks=k (EEZ) ds laca/ esa fuEufyf•r 

dFkuksa ij fopkj dhft;s%

	 1-	 ;g vkerkSj ij leqæ fdukjs ls 200 leqæh ehy 
rd iQSyk gqvk {ks=k gS] ftlds Hkhrj rVh; jkT; 

dks lalk/uksa dh •kst vkSj mlds mi;ksx dk 

vf/dkj çkIr gSA

	 2-	 nqfu;k Hkj ds lHkh ns'kksa esa Hkkjr dk nwljk lcls 

cM+k EEZ gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 
	 (d)	 u rks 1 vkSj u gh 2 

	 68.	 Recently, India has acquired the capability of 
submarine launched ballistic missile (SLBM). It 
has been tested from which nuclear submarine?

	 (a)	 INS Kalvari
	 (b)	 INS Arihant
	 (c)	 INS Sindhuraj
	 (d)	 INS Shankush
	 69.	 With reference to The Chief of Defence Staff 

(CDS), consider the following statements:
	 1.	 He is a 'Three Star General/Officer', who 

serves as the Principal Military Advisor to 
the Defence Minister in all the three service 
matters.

	 2.	 He has the rank of Secretary in the Department 
of Defense and his powers will be limited to 
the revenue budget only.

		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 	
	 (b)	 Only 2 
	 (c)	 Both 1 and 2 
	 (d)	 Neither 1 nor 2 
	 70.	 With reference to combined maritime forces 

exercise, consider the following statements:
	 1.	 It was established in the year 2001 as a 

counter-terrorism group in collaboration with 
12 countries. 

	 2.	 Its headquarters is located in Manama 
(Bahrain). 

	 3.	 The Indian Navy is participating in this 
exercise for the first time. 

		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 and 2 	 (b)	 Only 1 and 3
	 (c)	 Only 2 and 3 	 (d)	 1, 2 and 3 
	 71.	 Consider the following statements regarding The 

Special Economic Zone (EEZ):
	 1.	 It is usually an area extending up to 200 

nautical miles from the seashore, within 
which the coastal state has the right to search 
for and use resources.

	 2.	 India has the second largest EEZ among all 
the countries around the world.

		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 	
	 (b)	 Only 2 
	 (c)	 Both 1 and 2 
	 (d)	 Neither 1 nor 2
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	72-	egklkxj esa {ks=kksa ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 egklkxj dh lrgh ijr dks ,fiisySftd tksu 
(Epipelagic Zone) ds :i esa tkuk tkrk gSA

	 2-	 ckfFkisySftd tksu (Bathypelagic Zone) dks 
dHkh&dHkh eè;jkf=k {ks=k ds :i esa tkuk tkrk gSA

	 3-	 gSMyisySftd tksu (Hadalpelagic Zone) esa thou 
ekStwn ugha gSA

	 	mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	73-	Mhi vks'ku fe'ku (DOM) ds lanHkZ esa fuEufyf•r esa 
ls dkSu&lk@ls dFku lgh gS@gSa\

	 1-	 bls i;kZoj.k] ou vkSj tyok;q ifjorZu ea=kky; 
(MoEFCC) }kjk ykWUp fd;k x;k FkkA

	 2-	 ekuo; qDr iuMqCch okgu vk Sj virVh; 
egklkxj FkeZy ÅtkZ :ikarj.k (OTEC) lapkfyr 
foyo.khdj.k la;a=kksa ds fodkl dh ifjdYiuk 
Mkse ds rgr dh xbZ gSA

	 3-	 leqæ;ku] DOM dk ,d fgLlk] ekuo;qDr iuMqCch 
okgu ^eRL; 6000* dks leqæ esa 6000 ehVj dh 
xgjkbZ rd HkstsxkA

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2] vkSj 3 

	74-	ty 'kfDr vfHk;ku ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 bl vfHk;ku dk fo"k; gS& dSp n jsu Ogs;j bV 
iQkWYl] Ogsu bV iQkWYl

	 2-	 blesa ns'k ds lHkh ftyksa ds lHkh xzkeh.k vkSj 'kgjh 
{ks=kksa dks 'kkfey fd;k x;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	75-	ijaijkxr Ñf"k fodkl ;kstuk (PKVY) ds laca/ esa 
fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 ;g e`nk LokLF; çca/u (SHM) dk ,d foLrkfjr 
?kVd gSA

	 2-	 bldk mís'; tSfod •srh dks leFkZu vkSj c<+kok 
nsuk gSA

	 3-	 ;g iwjh rjg ls dsaæ ljdkj }kjk çk;ksftr gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	 72.	  Consider the following statements with reference 
to areas in the ocean:

	 1.	 The surface layer of the ocean is known as 
the epipelagic zone.

	 2.	 Bathypelagic zones are sometimes referred to 
as midnight zones.

	 3.	 Life does not exist in the Hadalpelagic Zone.
		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 and 2 	 (b)	 Only 1 and 3
	 (c)	 Only 2 and 3 	 (d)	 1, 2 and 3 
	 73.	 Which of the following statements is/are correct 

regarding Deep Ocean Mission (DOM)?
	 1.	 I t  was launched by the Ministry of 

Environment, Forest and Climate Change 
(MoEFCC).

	 2.	 The development of manned submersible 
vehicles and offshore ocean thermal energy 
conversion (OTEC) powered desalination 
plants is envisaged under DOM.

	 3.	 Samudrayan, a part of the DOM, will send the 
manned submarine vehicle 'Matsya 6000' to 
the sea up to a depth of 6000 meters.

		  Select the correct answer using the code given 
below:

	 (a)	 Only 1 and 2 	 (b)	 Only 1 and 3
	 (c)	 Only 2 and 3 	 (d)	 1, 2, and 3
	 74.	 With reference to Jal Shakti Abhiyan, consider the 

following statements:
	 1.	 The theme of this campaign is - Catch the 

Rain Where It Falls, When It Falls
	 2.	 It covers all rural and urban areas of all 

districts of the country.
		  Which of the above statement(s) is/are not correct?
	 (a)	 Only 1 	 (b)	 Only 2 
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2 
	 75.	 Consider the following statements regarding 

Paramparagat Krishi Vikas Yojana (PKVY):
	 1.	 It is an extended component of Soil Health 

Management (SHM).
	 2.	 It aims to support and promote organic 

farming.
	 3.	 It  is fully sponsored by the Central 

Government.
		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 and 2 	 (b)	 Only 1 and 3
	 (c)	 Only 2 and 3 	 (d)	 1, 2 and 3 
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	76-	¶Ñf"k foi.ku volajpuk (AMI)¸ ds laca/ esa 

fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 bls •k| çlaLdj.k ,oa m|ksx ea=kky; }kjk 

fØ;kfUor fd;k tk jgk gSA

	 2-	 us'kuy cSad iQkWj ,xzhdYpj ,aM :jy MsoyiesaV 

(NABARD) AMI ds rgr lfClMh tkjh djus 

ds fy;s pSuykbftax ,tsalh gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	77-	¶Hkkjrh; Ñf"k vuqla/ku ifj"kn (ICAR)¸ ds laca/ esa 

fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 bls igys baihfj;y dkmafly vkWiQ ,xzhdYpjy 

fjlpZ ds uke ls tkuk tkrk FkkA

	 2-	 ;g Ñf"k vuqla/ku vkSj f'k{kk foHkkx (DARE) 
ds rgr dk;Z djrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	78-	^ØSMy csch ;kstuk* fuEufyf•r esa ls fdl jkT; dh 

gS\

	 (a)	 dukZVd	 (b)	vka/z çns'k

	 (c)	 rfeyukMq	 (d)	jktLFkku

	79-	cgqvk;keh xjhch lwpdkad 2022 ds lanHkZ esa fuEufyf•r 

dFkuksa ij fopkj dhft;s%

	 1-	 bls UNDP vkSj vuqla/ku dsaæ vkWDliQksMZ ikoVhZ 

,aM áweu MsoyiesaV bfuf'k,fVo }kjk tkjh fd;k 

x;k gSA 

	 2-	 bl lwpdkad ds vuqlkj  Hkkjr us 2005&2006 
vkSj 2019&2020 ds chp cgqvk;keh xjhch ls 

415 fefy;u yksxksa dks ckgj fudkyk gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	80-	fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 Hkkjr fo'o dh ik¡poh lcls cM+h vFkZO;oLFkk gSA 

	 2-	 Hkkjr ds ikl ik¡pok¡ lcls cM+k fons'kh eqæk 

HkaMkj gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	 76.	 Consider the following statements regarding 

"Agricultural Marketing Infrastructure (AMI)":

	 1.	 It is being implemented by the Ministry of 

Food Processing and Industry.

	 2.	 National Bank for Agriculture and Rural 

Development (NABARD) is the channelising 

agency for release of subsidy under AMI.
		  Which of the above statement(s) is/are correct?

	 (a)	 Only 1 	 (b)	 Only 2 

	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2 

	 77.	 Consider the following statements regarding 

"Indian Council of Agricultural Research (ICAR)":

	 1.	 It was formerly known as the Imperial Council 

of Agricultural Research.

	 2.	 It functions under the Department of 

Agricultural Research and Education (DARE).

		  Which of the above statement(s) is/are correct?

	 (a)	 Only 1 	 (b)	 Only 2 

	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2 

	 78.	 'Cradle Baby Scheme' belongs to which of the 

following state?

	 (a)	 Karnataka 	 (b)	 Andhra Pradesh

	 (c)	 Tamil Nadu 	 (d)	 Rajasthan

	 79.	 With reference to the Multidimensional Poverty 

Index 2022, consider the following statements:

	 1.	 It has been released by UNDP and research 

centre  Oxford Pover ty  and Human 

Development Initiative. 

	 2.	 According to this index, India has lifted 

415 million people out of multidimensional 

poverty between 2005-2006 and 2019-2020. 

		  Which of the above statement(s) is/are correct?

	 (a)	 Only 1 	 (b)	 Only 2 

	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2

	 80.	 Consider the following statements:

	 1.	 India is the fifth largest economy in the world. 

	 2.	 India has the fifth largest foreign exchange 

reserves.

		  Which of the above statement(s) is/are correct?

	 (a)	 Only 1 	 (b)	 Only 2 

	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2 
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	81-	gfjtu lsod la?k ds laca/ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 bldh LFkkiuk 1932 esa dh xbZ FkhA 
	 2-	 blds laLFkkid vè;{k egkRek xka/h FksA 
	 3-	 ?ku';ke nkl fcM+yk blds lfpo FksA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	  2 vkSj 3 	 (b)	dsoy 1 
	 (c)	 1 vkSj 2 	 (d)	dsoy 3 

	82-	lk¡ph Lrwi ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 bldk fuekZ.k lezkV v'kksd us r`rh; 'krkCnh bZlk 
iwoZ esa djk;k FkkA 

	 2-	 Lrwi dk eq[; Hkkx czãkaMh; ioZr dk çrhd gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	83-	cFkqdEek mRlo ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 ;g vka/z çns'k dk jaxhu iQwyksa dk R;ksgkj gSA 
	 2-	 bl mRlo dk vk;kstu igyh ckj bafM;k xsV (ubZ 

fnYyh) esa fd;k x;kA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	84-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

		  ns'k 		 gky gh esa lekpkjksa esa 
					   gksus dk egÙoiw.kZ dkj.k 
	 1-	 cqfdZuk iQklks 	 —	lsuk }kjk r[rkiyV
	 2-	 Vksaxk }hi lewg  	—	tyeXu Tokykeq•h lajpuk 	

		 	dk mHkkj
	 3-	 yscuku	 —	yscuku vkSj btjkby us 
	 	 		 	leqæh lhek le>kSrs ij 
	 	 		 	gLrk{kj

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha 	 (b)	dsoy ,d ;qXe 
	 (c)	 dsoy nks ;qXe 	 (d)	lHkh rhuksa ;qXe 

	85-	fuEufyf•r ns'kksa ij fopkj dhft;s%

	 1-	 jksekfu;k	 2-	dkslksoks
	 3-	 lfcZ;k	 4-	vYckfu;k
	 5-	 rqdhZ

	 	mi;ZqDr esa ls fdudh lhek,¡ cqYxkfj;k ds lkFk yxrh gSa\

	 (a)	 dsoy 1] 3 vkSj 5 	 (b)	dsoy 1] 2 vkSj 4 
	 (c)	 dsoy 2] 3] 4 vkSj 5 	(d)	1] 2] 3] 4 vkSj 5 

	 81.	 Consider the following statements regarding 
Harijan Sevak Sangh:

	 1.	 It was established in 1932. 
	 2.	 Its founding president was Mahatma Gandhi. 
	 3.	 Ghanshyam Das Birla was its secretary. 
		  Which of the above statement(s) is/are correct?
	 (a)	 2 and 3 	 (b)	 Only 1 
	 (c)	 1 and 2 	 (d)	 Only 3 
	 82.	 With reference to Sanchi Stupa, consider the 

following statements:
	 1.	 It was built by Emperor Ashoka in the 3rd 

century BC. 
	 2.	 The main part of the stupa symbolizes the 

cosmic mountain. 
		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 	 (b)	 Only 2 
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
	 83.	 Consider the following statements with reference 

to Bathukamma festival:
	 1.	 It is the colorful flower festival of Andhra 

Pradesh. 
	 2.	 This festival was organized for the first time 

at India Gate (New Delhi). 
		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 	 (b)	 Only 2 
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2 
	 84.	 Consider the following pairs:
		      Country         Important reason for 
			   being in the news recently 
	 1.	 Burkina Faso	–	 coup by the military
	 2.	 Tonga Islands	–	 Rise of submerged 	

			  volcanic structure
	 3.	 Lebanon	 –	 Lebanon and Israel 
                        sign maritime boundary 
                        agreement.
		  How many of the above pairs are correctly 

matched?
	 (a)	 No pair	 (b)	 Only one pair 
	 (c)	 Only two pairs	 (d)	 All three pairs
	 85.	 Consider the following countries:
	 1.	 Romania 	 2.	 Kosovo
	 3.	 Serbia    	 4.	 Albania
	 5.	 Turkey
		  Which of the following shares borders with 

Bulgaria?
	 (a)	 Only 1, 3 and 5 	 (b)	 Only 1, 2 and 4 
	 (c)	 Only 2, 3, 4 and 5 	 (d)	 1, 2, 3, 4 and 5 
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	86-	fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 mefyax yk njkZ Hkkjr ds tEew d'ehj esa fla/q 

unh ds chp dh ydhj] ;g ,d igkM+h njkZ gSA 

	 2-	 ekuk njkZ uank nsoh ck;ksLiQh;j fjtoZ ds Hkhrj 

mÙkjk•aM esa cæhukFk ds mÙkj esa fLFkr gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	 87-	fuEufyf•r ;qXeksa ij fopkj dhft;s

		  jpukdkj 		  jpuk
	 1-	 fo'kk•nÙk	 —	 eqækjk{kl

	 2-	 dkeand 	 —	 uhfrlkj

	 3-	 {ksesaæ 	 —	 c`gRdFkkeatjh

	 4-	 dkfynkl 	 —	 e`PNdfVde

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe 	 (b)	dsoy nks ;qXe 

	 (c)	 dsoy rhu ;qXe	 (d)	lHkh pkjksa ;qXe 

	88-	fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 lksenso dh dFkklfjRlkxj ls ekS;Z dky ds fo"k; 

esa tkudkjh feyrh gSA 

	 2-	 laè;kdj uanh dh jkepfjr jpuk caxky ds 'kkld 

jkeiky dh thoudFkk gSA 

	 3-	 iratfy dh egkHkk"; jpuk ls xqIrdky ds fo"k; 

esa tkudkjh feyrh gSA  

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	 89-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

	 1-	 gkFkhxqaiQk vfHkys• 	 —	•kjosy

	 2-	 Hkhrjh LraHk ys•	 —	leqæxqIr

	 3-	 nsoikM+k vfHkys•	 —	fot;lsu

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh lqesfyr gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2] vkSj 3 

	90-	fuEufyf•r esa ls fldanj ds lkFk Hkkjr vkus okys 

ys•d dkSu&ls gSa\

	 1-	 Mkbesdl	 2-	fu;kdZl

	 3-	 vfjLVkscqyl	 4-	esxLFkuht

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 1 vkSj 2	 (b)	2 vkSj 4
	 (c)	 1 vkSj 3	 (d)	2 vkSj 3

	 86.	 Consider the following statements:
	 1.	 Umling La Pass is a mountain pass, the 

ridge between the Indus river in Jammu and 
Kashmir, India. 

	 2.	 Mana Pass is located north of Badrinath in 
Uttarakhand within the Nanda Devi Biosphere 
Reserve. 

		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 	 (b)	 Only 2 
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2 
	 87.	 Consider the following pairs
			  Creator		  text
	 1.	 Vishakadatta	 -	 Mudrarakshas
	 2.	 Kamandak	 -	 Nitisar
	 3.	 Kshemendra	 -	 Brihatkathamanjari
	 4.	 Kalidasa	 -	 Mrichakatikam
		  How many of the above pairs are correctly 

matched?
	 (a)	 Only one pair 	 (b)	 Only two pairs 
	 (c)	 Only three pairs 	 (d)	 All four pairs
	 88.	 Consider the following statements:
	 1.	 Somdev's kathasaritsagar gives information 

about the Mauryan period. 
	 2.	 Sandhyakar Nandi's Ramcharit composition is 

the life story of Rampal, the ruler of Bengal. 
	 3.	 Patanjali 's mahabhashya composition 

provides information about the Gupta period.  
		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 and 2 	 (b)	 Only 1 and 3
	 (c)	 Only 2 and 3 	 (d)	 1, 2 and 3 
	 89.	 Consider the following pairs:
	 1.	 Hathigunfa Records	 –	 Kharvel
	 2.	 Inner Column Article	–	 Samudragupta
	 3.	 Devpada Records	 –	 Vijayasen
		  Which of the above statements is correctly 

matched?
	 (a)	 Only 1 and 2 	 (b)	 Only 1 and 3
	 (c)	 Only 2 and 3 	 (d)	 1, 2, and 3
	 90.	 Who among the following writers came to India 

along with Alexander?
	 1.	 Dimecus 	 2.	 Niarkus
	 3.	 Aristobulus 	 4.	 Megasthenes
		  Select the correct answer using the code given 

below:
	 (a)	 1 and 2 	 (b)	 2 and 4
	 (c)	 1 and 3 	 (d)	 2 and 3



22
lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009

nwjHkk"k% 8750187501, 011-47532596
bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	91-	fuEufyf•r esa ls dkSu&lk ;qXe lqesfyr gS\

		  (gM+Iik LFky)  	 (unh ds fdukjs vofLFkr)
	 1-	 ekaMk	 —	 fla/q unh
	 2-	 nSekckn	 —	 çojk unh
	 3-	 vkyexhjiqj	 —	 fgaMu unh
	 4-	 lqRdkxsaMksj	 —	 nk'd unh

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s% 

	 (a)	 dsoy 1] 2 vkSj 3 	 (b)	dsoy 2] 3 vkSj 4 
	 (c)	 dsoy 1 vkSj 4   	 (d)	1] 2] 3 vkSj 4

	92-	½XoSfnd dky ds lanHkZ esa fuEufyf•r esa ls dkSu 
^ikykxy* dgykrs Fks\

	 (a)	 çfrgkjh
	 (b)	 taxy foHkkx dk ç/ku
	 (c)	 fonw"kd
	 (d)	 ikls ds •sy esa jktk dk lg;ksxh

	93-	fuEufyf•r esa ls dkSu&ls 'kkld tSu /eZ ds leFkZd 
Fks\

	 1-	 mnf;u	 2-	feukaMj
	 3-	 •kjosy	 4-	fcafclkj
	 5-	 vtkr'k=kq	 6-	dfu"d
	 7-	 fcanqlkj

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1] 2] 3 vkSj 6
	 (b)	 dsoy 1] 3] 4] 5 vkSj 7 
	 (c)	 dsoy 2] 5] 6 vkSj 7 
	 (d)	 1] 2] 3] 4] 5] 6 vkSj 7 

	94-	Hkkjrh; bfrgkl ds lanHkZ esa fuEufyf•r xzaFkksa ij fopkj 
dhft;s%

	 1-	 vusdkar fot;	 2-	f=k"kf"B'kykdkpfjr
	 3-	 ifjf'k"V ioZu	 4-	folq¼eXx

	 	mi;ZqDr esa ls dkSu&ls tSu xzaFk gSa\

	 (a)	 1] 2 vkSj 3	 (b)	dsoy 2 vkSj 4
	 (c)	 1] 3 vkSj 4	 (d)	2] 3 vkSj 4

	95-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

		  laçnk;@er 		 laLFkkid
	 1-	 HkkSfrdrkoknh	 —	idq/ dPpk;u
	 2-	 ;n`PN;kokn 	 —	vkpk;Z vftr 
	 	 		 	ds'kdkEcfyu
	 3-	 ?kksj vfØ;koknh	 —	iwj.k d';i
	 4-	 vfu'p;oknh 	 —	lat; foV~Bfyiq=k

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe 	 (b)	dsoy nks ;qXe 
	 (c)	 dsoy rhu ;qXe	 (d)	lHkh pkjksa ;qXe 

	 91.	 Which of the following pairs is matched?
		    (Harappan site)        (Located on the 
		                         banks of the river)
	 1.	 Manda	 –	 Indus River
	 2.	 Daimabad	 –	 Pravara River
	 3.	 Alamgirpur	 –	 Hindon River
	 4.	 Sutkagandor	 –	 Dashk River
		  Select the correct answer using the code given 

below: 
	 (a)	 Only 1, 2 and 3 	 (b)	 Only 2, 3 and 4 
	 (c)	 Only 1 and 4 	 (d)	 1, 2, 3 and 4
	 92.	 Which of the following was called 'Palagal' with 

reference to rig vedic period?
	 (a)	 Pratihari
	 (b)	 Head of forest department
	 (c)	 Clown
	 (d)	 King's associate in the game of dice
	 93.	 Which of the following rulers was a supporter of 

Jainism?
	 1.	 Udayin 	 2.	 Minander
	 3.	 Kharvel 	 4.	 Bimbisar
	 5.	 Ajatashatru 	 6.	 Kanishka
	 7.	 Bindusar
		  Select the correct answer using the code given 

below:
	 (a)	 Only 1, 2, 3 and 6
	 (b)	 Only 1, 3, 4, 5 and 7 
	 (c)	 Only 2, 5, 6 and 7 
	 (d)	 1, 2, 3, 4, 5, 6 and 7 
	 94.	 Consider the following texts in the context of 

Indian history:
	 1.	 Anekant Vijaya
	 2.	 trishashtishlakacharita
	 3.	 Parishisht Parvan
	 4.	 Vishudhamagg
		  Which of the above are Jain texts?
	 (a)	 1, 2 and 3 	 (b)	 Only 2 and 4
	 (c)	 1, 3 and 4 	 (d)	 2, 3 and 4
	 95.	 Consider the following pairs:
		  Sect/Creed		  Founder
	 1.	 Materialist	 –	 Pakudha Kachayan
	 2.	 Randomism	 –	 Acharya Ajit 
					    Keshkamblin
	 3.	 Extremely inactionist	–	 Puran Kashyap
	 4.	 acataleptic	 –	 Sanjay Vitaliputra
		  How many of the above pairs are correctly 

matched?
	 (a)	 Only one pair 	 (b)	 Only two pairs 
	 (c)	 Only three pairs 	 (d)	 All four pairs 
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	96-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

    	(ekS;Z ç'kklu ds vè;{k)   (lacaf/r foHkkx)
	 1-	 ikSrokè;{k 	—	 tgktjkuh foHkkx dk vè;{k
	 2-	 i.;kè;{k 	 —	 eki&rkSy dk vè;{k
	 3-	 lwukè;{k	 —	 ou ,oa mldh laink dk vè;{k

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha 	 (b)	dsoy ,d ;qXe 
	 (c)	 dsoy nks ;qXe 	 (d)	lHkh rhuksa ;qXe 

	97-	xqIr dky ds lanHkZ esa fuEufyf•r esa ls ;qXeksa ij fopkj 
dhft;s%

		  (Hkwfe) 		  (vFkZ)
	 1-	 {ks=k	 —	 •srh djus ;ksX;
	 2-	 okLrq	 —	 fuokl djus ;ksX; Hkwfe
	 3-	 f•y 	 —	 taxyh Hkwfe
	 4-	 vçgr	 —	 tks Hkwfe Ñf"k ;ksX; ugha gksrh Fkh 

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr ugha gSa\

	 (a)	 dsoy ,d ;qXe 	 (b)	dsoy nks ;qXe 
	 (c)	 dsoy rhu ;qXe	 (d)	lHkh pkjksa ;qXe 

	98-	laxedkyhu lekt ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 rksYdkfIi;e esa 12 çdkj ds fookgksa dk mYys• 
feyrk gSA 

	 2-	 O;kikjh oxZ dks osfuxj dgk tkrk FkkA mUgsa 'kwæksa 
dh Js.kh esa j•k tkrk FkkA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	99-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

		  jkT;  		  laLFkkid
	 1-	 dypqjh	 —	 dksdYy
	 2-	 çfrgkj	 —	 gfjpan
	 3-	 pansy	 —	 uUuqd
	 4-	 iYyo	 — 	 flag fo".kq

	 	mi;ZqDr ;qXeksa esa ls dkSu&ls lgh lqesfyr gSa\

	 (a)	 dsoy 1] 2 vkSj 4 	 (b)	dsoy 1] 2 vkSj 3 
	 (c)	 dsoy 3 vkSj 4   	 (d)	1] 2] 3 vkSj 4

	100-	pksy dky esa ̂ dMeS* uked dj fdl fo"k; ls lacaf/ssssr 
Fkk\

	 (a)	 mi;ksxh o`{kdj
	 (b)	 rsy?kkuh dj
	 (c)	 lqikjh ds ckxku ij dj
	 (d)	 xk¡o lqj{kk dj 

	 96.	 Consider the following pairs:
	    (Heads of Maurya   	    (Related Department)
     administration)
	 1.	 Potvadhyaksh	 –	 Head of The Shipping 
					    Department
	 2.	 Panyadhyaksh	 –	 Head of weight and 
					    Measurement
	 3.	 Sunadhyaksha	 –	 Head of forest and its 
					    wealth
		  How many of the above pairs are correctly 

matched?
	 (a)	 No pairs 	 (b)	 Only one pair 
	 (c)	 Only two pairs 	 (d)	 All three pairs 
	 97.	 Consider the following pairs with reference to the 

Gupta period:
		  (land) 		  (meaning)
	 1.	 Area	 –	 Cultivable
	 2.	 Vastu	 –	 Habitable
	 3.	 khil	 –	 Wild Land
	 4.	 Aprahat	 –	 land that was not cultivable 
		  How many of the above pairs are correctly 

matched?
	 (a)	 Only one pair 	 (b)	 Only two pairs 
	 (c)	 Only three pairs 	 (d)	 All four pairs 
	 98.	 Consider the following statements with reference 

to Sangam society:
	 1.	 There are 12 types of marriages mentioned in 

tolkappium. 
	 2.	 The merchant class was called the Veniger. 

They were placed in the category of Shudras. 
		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1 	 (b)	 Only 2 
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2 
	 99.	 Consider the following pairs:
		  state 		  founder
	 1.	 Kalchuri	 –	 Kokal
	 2.	 Pratihara	 –	 Harichand
	 3.	 Chandel	 –	 Nannuk
	 4.	 Pallava	 –	 Singh Vishnu
		  Which of the above pairs is correctly matched?
	 (a)	 Only 1, 2 and 4 	 (b)	 Only 1, 2 and 3 
	 (c)	 Only 3 and 4 	 (d)	 1, 2, 3 and 4
	100.	 In the Chola period, the tax called 'Kadamai' was 

related to which subject?
	 (a)	 Useful tree tax
	 (b)	 Telghani  tax
	 (c)	 Tax on betel nut plantation
	 (d)	 Village Security Tax


